OTTO’S

GRILL STAND XL

ASSEMBLY INSTRUCTIONS

Grill stand for The Otto Grill with slide-out gas bottle drawer and additional storage space



WELCOME
TO THE FAMILY




THE OTTO GRILL STAND XL

Congratulations on your purchase of Otto Wilde’s Storage
Module and thank you for becoming a part of the grill
revolution. With our Storage Module the name says it all.
They are the perfect option for storing all of your grilling

and outdoor accessories. Much like you find inside in the
kitchen, Otto offers you the option of a cabinet for storing
your larger items or a set of drawers for those smaller items.
With its 100 % stainless steel construction it’s the perfect
option to keep you organized and from having to run into
the house to get something. The spacious counter top can
easily be wiped clean due to it also being made of high-grade
stainless steel. The best part of the Otto Grill Stand XL is
the gas bottle storage. With a slide-out drawer the gas bottle
storage is easily accessible for installation and maintenance.
Many of the features were developed with the help of the
greatest community in the world, and now you’re a part of
this community. Thank you for joining the family.

Your Otto Wilde family



SCOPE OF DELIVERY

Here is a list of parts that
are exemplary for your
Grill Stand XL. Quickly
check that all the pieces
are there and use the
screws supplied.

4x Module Connector Screw

1x Base

il

72x M4 X8 Screw

W//W/Wll i i
i J
iy
///M///M/I//illllil

Uity
U iy

Uiy
//M//M/M

1x Lower Back Wall

40x M5X12 Screw

=

4x M5X10 Screw

1x Upper Back Wall

16x M6 X16 Screw

12x Screw M4 X10

1x Side Wall Right

TOOLS YOU WILL NEED

! Start all screws by hand
first and then finishing
tightening with the tool
provided or similar.

=N

J1

1x Hex Key

JZ

1x Torx Key TX20

J3

1x Torx Key TX15




E\ﬂl\

1x Side Wall Left 1x Cross Brace 1x Cross Brace Top 4x Adjustable Castor

e T

2x Rubber Protect Ring 1x Counter Top 1x Toeboard Left 1x Toeboard Right

S

1x Toeboard Front 1x Toeboard Back 1x Door 2x Door Hinges

1x Anti-Tip Support 1x Drawer Front 32" 3x Drawer Front 16"

1x Middle Wall 8x Drawer Slide



ASSEMBLY

CORE

/
/

, DVTRL ANTRL - ARRAY - ARAR wmw’

TIRL WAL WAL WL T

VO WL T WA W
LWL VAL WAL VAR WA

O
STUEL - TARRL - BAAEL ARREL WA

panel, we recommend
first installing the

side walls or middle
drawer slides.

Before installing the




Snap the soft-close

J
g a_(i j mechanism of the rail

forward to tighten the
rear two screws.

D | : — 9
777\\ —."©
Y

Repeat on the
opposite side.



g i\, ©
I 10000 D0

%w TARAL GARAL AARAL AR AR

A5 X

Save one screw

for later.

1x
A5 X
1x



— =
0.
000 ggnnnununu fon
& Dngnunununn

(e

00000
Sopo000000

ooo

|

A7 X

— a
= = = O
= o = ==
— — = = e
—_ = = T s = a=
o= = = tas
== =
— =
—_ = =
_— _— =
—_ = = = s
= = = _— = =
= = =
_=_ = s
— a—
_ = =
s e = = =
—_— e =, = =
— — e —
o = e = — =
== =
— a—
I S = —
— = = = =
_ - — — ] a—
> —_ = = = @ a
A — = = = *
== =
— a—
—_ = =
g — = = —_— T
- e N e I T
= 3 cﬂt:(i:)c: = .
o — = — =
® = — =—|* ® s o
=




[0}
<
=]
[}
O
&L
o
[e]
S
[
—
>
(%]
o3
m

%
=
[
b
O
2]
()

=

-+
c
(@)
%
o
Q

<
%)
©
=

b
(0]
O
.
o
=
()
.
Q
=
C
3
o
=
(%]
(%]
@©

C 16 x

@
et
s-
L g
_
x
©
°0
Qo
o=
D 4
mo
o O
o £
- C

For mobile use these

mounting holes (1) and
for stationary installati-

on use these mounting

holes (2).

/
/
/
/
/
/b
/

LI 0000 \mﬁi
,;,,,;,,,;,,,;,, ) &E% amﬁ\\ 19 44908

Moo a0 a0y a9g80 ggqp0
(s g0 900y 00ag SOy

10



A3x O || oot

L J0007000000000000000000 0000000000000 0000000007 |

N R
/‘}' o 57 7 // @%
j 4 -l“l \\_/ \(: N

s
Ty

N
\

N
\

8

Iy
O
Iy

1



11

12

A
M I
—
- .
O O

TR TR R TR R R R R

AR R,
AR R

Y o o ()
A

AN

JAANENRRARARRRERMRREANAY

T R,

\\\\\\\\\\\}\\\\\\

%\\\\\\\\\\\\\\\\\\\\\\\
O o

@]

DN,
LN A

\\\\\\

=




larly the lower hinge,
before the gas bottle

door hinges, particu-
drawer.

It’s best to install the

13



GA
S BOTTLE DRAWER

Z

\\\\%

o

I\

Y

i RS
SST

. .

i

l/MM//M/WWW/M/M/
S
N
o]

g

Repeat on the
opposite side

14



OL

il

i
Uy

Be sure the lock is in the
in the “up” position and
secured before inserting
the drawer completely.

15



O O

e s \

?///////////////////////
o |

/ i

C

o8

O

Be sure to secure the

drawer by placing the
locking cylinder in the
hole in the floor.



ASSEMBLY

TOP

A5 X

LA~ s}/ s
= i
N — N
L W
VI
W=
m m M
U © o

I

0

R

(Y

NN
[N

Al
Y

==
%/
Tl




ASSEMBLY

DOOR

4 x

Eie suire U9 lresl oilcjjte
1x Duuuununmum thecoveronthesorre—
° ofthedoorthatcening
DDDDDDDDDDD sponds to the op
DDDDDDDDDDQ direction.
uuuuununmnm
uuunuuuuuuu
uuuuununmnm
ununuuuuuuu
uuunununmnu
umunuuuuuuu
uuunununmnm
s
-
\\\\\\\\\\\\\\\\\\\\\\

18



\ Loosen the thumb screw and
allow the safety support fall un-
= til the foot is on the ground.

——————————

(A
(NN
o noo

ooooooooao
0 oooooooao
0 oooooooao
0 oooooooao
0 oooooooao
0 oooooooao
0 00 oooooao

o o
o o
o o
o o
o 5
o o
o o

° ° \\\\\\\\\\\\\\\\\\\
i &
. . \ ‘ Adjust the foot as needed by
screwing in up or down.
o - o
@)

———————————

o (T TININD e
(D (T CNND

Dooooooooao

Doooooooo

Doooooooo

oo ooo

o
o
o
o
o
=
=

0o ooo
0o ooo

ooooao
ooooao
ooooao
ooooao
ooooao

0o ooo
0Dooaoaon

d
ANTLLALALTRRNRNRRNLL

=




ASSEMBLY

DRAWER 16" AND 32"

4

B =
©
Ig AR

) {e) { o)

AR R

20



AR R

21



Scan or click on the QR

code to get to the other
assembly instructions of
our Platform Modules.

501576 V 00

Otto Wilde Grillers Inc.
12600 Hill Country Blvd

Suite R-130 #293
Austin, TX 78738 Share your grill experience with us!

%l!usemuzks +1(855) 505-5646

service@ottogrills.com
www.ottogrills.com




